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39 3] 25 29 22
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w ~
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L} ]
Wl A Nuuy B =
b 1]

(5.61)°

119.852 x ;%%5 x b
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75

L] t
wy A Mwy c
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... 3,96 Y 2.43 reject atol = .05

1 I
wy A iy D

£55.41 - 43,58)2

119, 852 (%9 + %9)x1+
_ (11.83)2
- 68
119.8%2 W X4
_ 139.9489
- 28.823
= 4,855
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119,852 (;9 + %2) b

(7.68)°

51
119, R X4
9, 852 638

58, 9824
38,322

=.71,559

Ho yA.D = )‘_ E Fll-,‘lﬁ} = 2.43

i 1.539 £ 2,443 repain at oL = .05



80

= = - v di ‘1 ! - ’
tﬂruuLmundﬁnmﬁuaﬁdﬁntde?trﬂqnaﬁuTﬂﬂnqrqLﬂiﬁzuﬂﬁquuﬂrﬂrdu
WU L AL (One-Viay Analy51s of VarlanceJ

Al uu'mmfmmm | T‘IJ l ﬂﬁ‘)ﬂll l a‘mmu i ‘I!'I Cli Fﬁ'ﬁﬂ

BA . ™ - = ' '
aun 1 'H'lﬁzlLHUTjﬂLlﬂ:ﬂ:lluuTQ}Qmm"ﬂmﬂﬂﬁﬁmﬂtfﬂm‘.ﬂﬁmlj

uﬁ A uﬁ B ué g ug D wé E
60 60 59 48 L
60 57 58 438 41
60 57 58 43 Lo
60 56 56 &7 39
60 56 56 46 59
29 55 56 L6 38
59 55 55 ks 35
59 55 - bl 33
59 55 52 k2 31
59 54 51 4o 31
59 53 51 4Q 29
58 53 50 39 28
58 53 kg 38 28
58 52 k9 37 28
58 52 Lo 37 27
58 52 k9 36 27
57 5e 48 55 25
57 52 43 3k 25
57 52 47 3k 24




fﬁd 1 (n9)

81

1

vy A Wy B W C Wy D W E

57 52 Lé 32 18

57 52 L6 31 18

57 50 ke 29 15

56 50 L5 29

56 Lo Ls 28
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56 49 Ll 28

Sh L8 41 27

54 Lo 41 26

5k L7 41 26

53 L6 b
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(50.65 - 47.66)°

X

333.769 ( 3'5) 4
_ (2.99)°

333,769 68 x4

1155

_ 8.9401

78.601
& a1

Hoy..(B =/-(E, F4,153 = 2.43

v 411 <€ 2.43 retain at oL .05
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! 1
wy B MMy D

(50.65 - 3?.82)?

_ (13.8%)°

333,769 64 Xk
1015

191.,2689
84,182

= 2.27

Ho :/-‘-B =}J‘D ' Fl&,153 = 2.43

. . 2.2? < 2."4’3 retain at ol 05

1 1
wy B funy E

_ £50.65 - 3?.11)?
333.769 (35 + 53) X 4

(20,52)°

333.769

:9rﬂ
4
=

_ k21,0704
98, 830

= 4,26

Ho 7“-B /,( 5 FLI-"]E} = L,26

e o« Lb.26 >- 2.43 reject at o«¢ .05
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i 1
wy C fluy D

(47.66 - 3?{82)?

_(10.88)°2

- 62

_ 117.5056

86.493%

= 1,358
Ho 7"'0 =),1_D < FL*,‘153 = 2.43
.°. 1.358 <: 2,43 retain atel .05

] - i

Wy C NUWy E

(47,66 = 3g.13)?
333.769 (33 + 52) X 4

(17.53)%
333.769 237 X b

101, 142

= 3,038

Ho 7[0 2/4"13’ FL|.’153 = 2.43

. o 3.038 > 2.43 rEject at ol -05



1

wy p fUwy E

(36,82 - 30, 15)2

1 1
333.769 (3 + 55) %4

(6.69)2

21
333.769 Zzg X4

= bk, 7561
106,722

_ 419

Ho :/J.D =/u.E A Fh,153 = 2.43

L419 < 2,43 retain at oC .05
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ae be Ce de

3« . an ear

5. a piece of chalk
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mmi‘h nn;a 6~ 35

—."l"""" v- - [ [ 7] » o . dlv v v
Afe Twmin 1Tt meen Munaideneafminlsluse as by o
She——— ‘ dY 'y v v 4 v v . .
uar d  INBIWISTD INTIHY 'ln‘lnnﬂmmmgmao LA YInRINDY
Tunremmmnsusanint T
L ]
APUN
I am reading » -
a. box
be belt
ce book
d. pen
N7 ZAIENINDY (a) {(b)

|

L) (a)

6. He is to school,

be 'E.lking

Ce talking




Te

8.

9-

10.

I use a fan on a daye

-
b.
Ce

de

cold
cool
hot

wet

I have two .

- 1
b.
Ce

d.

e

be

d.

This

be

Ce

d.

legs
noses

mouths

arms

gives us milk,

horse
tiger
ox

cow

tree is
short
shot
tall

long

100
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11« A has four legs.

a8 lizard
b tiger
c. dog
de pig
12, The are on the plate.
as« spoons
b, forks

ce chopsticks

d. cups

i3s We have in the morning,.

as breakfast

be lunch
¢. dinner
de sSupper

14 He is touching his table with his

a8« head
be hand
Ce arm

de leg




15.

16,

17,

18,

We go to school on

e
b.
Ce

de

Sunday seseess Saturday
&lnday‘ evssene Fridw
Monday ssesees Saburday

Monday eesos+e Friday

A hat is on his

Se
be

Ce

8o

Ce

de.

hand
head
noge

face

apple is a .
food

foot

flute

fruit

live in water.
Ducks
Rats
Figh

102




19 Fratcom is=

a hroke

s 5

2 Cclosing
be oOrening
C. reading

de . touching-

20« Ve g to school in =

He car
b. bus
Ce bicycle

de  wvan

Z2ls  lly mother is
a. thin
be 3mall
c. fat

de sakort

bs hezd
Ce node

gs @ar

— e — e ©

is on the face.

103



24,

25.

264

be
Ce

de

This

be
Ce

de

b.
Ce

de

cock
cork
clock

ercek

boy is

touching
pulling
hitting

kicking

are
throwing
hitting
kicking

touching

tells us the time.

the cart.

the foot = ball.

My father gets up ir the

8
be

Ce

" de

evening
af'ternoon

morning

night

104
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are in ny hand.

a. Balloons

b. Balla /-_T_..n,

/(?_.zs.f-___;;»:-_
ce Bats [ o 70
ds Boxes

28, This pupil is a picture.
a. drawing
b. writing
cs readirg
d. cleaning
29. There are seven days in a o "7\ L
a. month —
DECEMBER 1971 eseseen:
be Year
SUN MON TUE WED THU FRI SAT
Ce weak — - - 1 2 3 4
5 6 7 8 9 10 11
de week 12 13 14 15 16 17 18
19 20 21 22 23 24 25
26 27 28 29 30 31
30. Chab is a window,
as closing ==
—
be opening wers = vcolf
Ce drewing — 4
de cleaning —1
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31. Pratoom goes home at
a. eleven o'clock
be half past eleven
ce five o'clock

de healf past five

32. We have lunch at .
3. ten minutes past eleven
bs ten minutes to eleven
Cs a quarter past eleven

de eleven o'clock

i3%e Tim goes to bed at .
as half past eight
be half past nine

Cce a quarter to nine

de a quarter past nine




34

35

This boy is ____ his sock.
a. taking off

b taking on

ce talking on

de putting on
My father wears a _ .

a. clock

be corck

ce. watch

d« wash

107
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MUN o M 36 - 45
[] L] o [} (73 “
AAq ’lvnm ItmeTen NNz Teun ) Lﬂﬂﬂml‘"w’ﬁﬂum‘}ﬂnbmm

uas mﬁﬂmu ’mm'ﬂmmummﬂu‘lu:ﬂmw uﬁ'mﬂmmu'lu
PRI, R

NTEAAIMOUTDIUNL ﬁ.ﬂ.&

The cat is a table.

@ 1 L o w ¥

~ A = -
mmnmﬂmﬂmwﬂ b lounem wander TwiniTmdniauiee b

Tunszaaupney
NTEALAMRL (a) ($)
(e) (d)

36 A _________ is in her hand.

Qe b_t
be b _g
Ce h__y

de Db e




37.

38.

39.

40,

109

He is eating .
a 1 ___ e
be m __ _ e
Ce r___ e
de k ]

a8« n __nmn
b 1. .0
Ce r ___m
de ¢l ]

The monkey is eatirg a

a. b __. _ a
be D ___n
Ce b n




41 A has no legs.

s i e
g8 1 ___ e

be br_ _ e
ce kn __ _ e
d. sn e

42. PFruits are in a

ge b ___ _ 1

be m __ _ %

Ca f__.___t

de d _ _k
430 I am

be d____ing
ce t _ __ _ ing
de W___._ing

44. The elephant is

8% P ____ ing

be p :i.ng

Ce P ing

—

de e ing
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45. A has four legs.
g b_____a
be b —— e - — (o]
ce b _ ____1
de b__ ___t
4 v
fnoUn & NN 46 - €0
. y.' - o - ': -
AR Twin o Tou denma i Luse By by ¢ WID 4 TIN
I— 4 v e Y.¥ ' v v,
AU B0 INUN TR L Lnluunazee wasEnmneuadly
NTEAEMINBUTENIN LTI
1 ]
AU
3
I sleep in a "
a. desk
b. bed
Ce table
d. door

L] [ ] ) v *

- of - 4 - :
UNITIIT LAY sleep  MAT9ZIRUMIONRIAIN bea  n1ar s el
we J & | Z 7 ey . ,
'hn’!ﬁi: ein L Toumenlaua ndeewenluns saausney

N3 INIBNINBY (a) &)
(e) (a)



46, The elephant has small o 112

a. ears
b. eyes
ce feet
de tails
47 Ink is in the .
as cup
be. glass
C. Dbowl
de bottle
S
48. Ve are drinkin ¢ ’}‘(‘/ 7
a. oOrange ’?;jﬁfj. dﬁ?
AN,
b. 1ice '
c. tea
de meat
49. Birds are in the .
a. nest
b bowl
Cc. box
d. Dbush
50. Ve have dinner in the 3

as morning

b. afternoon
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Ce evening

de night

51l Sri eats duck with a fork and a .
a. glass
b. saucer
c. sSpoon

de plate

52, Ladda cuts a mango with a .

a. cart
b. key
¢e fan
d. knife

53, I am gtanding on the .

a. wall
b. window
c. door
d, floor

54 Pupils wear ghoeg and .

as socks
bo Shirtﬂ
¢e shorts

d. trousers



55

56-

5T

580

Girls wear to0 schools.

Qe

be

Co

de

shorts

shirts

skirts

trousers

Boys wear to schools.

Ae
be
Ce

d.

My

Ee

be

Ce

d.

My

b.

de

blouses
shirts
skirts

trousers

mother is cooking in the .
school

house

kitchen

bed = room

mother puts charcoal in the .
plate

pan

can

stove

114
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604

We see the moon at

Be
bi
Ce

ds

day
night
school

house

Stars are in the

Se
be
Ce

de

sky

moon

bowl

——

15



1.
15,
17.
18.
19.

20,

s

1

as

e

as

Qe

Ae

e

2e

e

Ae

B0 e
b C.
be Ce
bi ci
b. Ce
ba ci
b. [
b. Ce
be c.
b. C.
be C.
be Ce
b. Ce
De C.
be Ce
b. Ce
b. C.
b. Ca
be Ce
be Ce
be Ce

dae
de
di
di
de
d.
de
de

de

de
de
de.
de
de

de

o
‘ﬂ( A
AUl ar g ang

51,
32,
33
3La
55
36.
3T
38,
39.
40.

NILANLANDL

as
a.
as
aé
as
a.
Be

Oe

ds
ae
e
Se
e
Qe

e

b,
be
be
De
be
b.
be
be
b.
b.
b,
be
be
b.
be
b.

b.

be

be

Cs
Ce
Ce
Cs
Cae
Ce
Ce.
c.
Ce

Ce

Ce
Ce
Ce

Ce

Ce
Ce

Coe

de
de
de
ds
da
d.
d.
d.
d.
d.
de
de
de
de
de
d.
d.
d.
de

de

B,

AT

De

e

aé

fle

e

b

be.

b.
be
bi
be
b.
b.
b,
b.
b.
be
be
b.
be
be
be
be
be

b.

116

Coe
C.
Ce
Ce

Ce

Ce
Cs
C,
Ce

Ce

d,
de
d.
e
e
da

de
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FRYNADLA N LT LT LUNMTEUMEBDINGY

ﬂlu - L7 v ] o w .
A Twin 1 Tiuemrer sy 9 unazmeuln el suamournam i

: . | v = . . - =
mu 9 1 1awnin 1Tiuszmedarnouluns saupmouoain t i

ALY

This is a dog. It has four legs.
"How many legs has a dog ?"

a. A dog has six legs.

b. A dog has four legs.

c. A dog has two legs,.

d. A dog has one leg.

N7 TN INDY (a) (»

(e) (d)

L] o v

DT ULAZARLPADNY LTTD “1

It's not an ants It has no legs.

What has no legs ?

as A tiger has no legs.

b. An ant has no legs.
¢c. An ox has no legs.

de A snake has no legs.




2.

3.

They are
They are
They are
What are

be They
ce They
de They

not ears.
not arms.
not faces.

they ?

are mouths;
are noses.
are cycse

are eggs.

This is a doll.
It has two legs.

How many arms has this doll ?

a8 This doll has two arms.
c¢. This doll has one arm,

de This doll has two legse

It has one arm.

](/“// A 777 7

AN e

gﬁ P %g E 7

It has two eyes.

119



4.

Se

Tim is a boy. He is standing.

He is drewing s picture with

a Piece of chalk.

¥hat is Tim doing 7

do

be

Cea

de

Tim
Tim
Tim

Tim

is drawing a picture.
is writing.

is standing.

is cleaning a black -~ board.

Tim is a pupil.

He is not wearing trousers.

He is wearing shorts.

His shorts are black.

Vhat is Tim wearing 7

b.

Ce

de

Tim

is Wearing shortis.
is wearing trousers.
is not wearing shorts.

is not wearing a shirt.




6.

b.

de

Te

b.
Ce

de

8.

Qe
b.
Ce

de

This is a cat. It is not in a table.
It is not on a table.

Where is it ?

It is not under a table.
it is in a table.
It is on a table.

It is under a table.

Dang is a pupil.
He is reading a book.
He is not writing now,

What is he doing ?

Dang is a pupil.
Dang is reading.

Dang is writing.

Dang is sitting.

Wipa is a woman. She is not a mother.

She is a teacher.

What is Nipa ?

Nipa is a mother.
Nipa is a teacher.
Nipa is a pupil.

Nipa is not a teacher.

121




9.

e
be
Ce

de

b.
Ce

d.

11.

be
Cs

d.

Is it a boat 2 Noy it is not.

What is it ?

It's a bus.
It's a car.
It's a boate.

It's a van.

Dang has two pencils.
Ladda has no pencilse.
Dang is giving her a pencil.

What is Dang giving to Ladda ?

He is giving her a pencil.
She is giving him a pencil.
He is not giving her a pencil.

She is not giving him a pencil.

This is Ladda. ©She is a girl.

What is her nane ?

She is a girl.
She is a name.
My name is Laddas.

Her name is Ladda.

122
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123

Dang has a bag in his hand, He is running to school, Ladda has

a bag in her hand. She is walking to school,

black shoes and white socks too.

12, Where are they going ?

a.
b,
Ce

d.

He is running to school,
She is walking to school,
They are going to school.

They are going to the garden,

13, Where are their bags ?

B

b,

C._

They have the bags,
They are at school,
They are in their hands.

They have black shoes and white socks.,

Dang and Ladda are wearing



e e e e S e A B e L e T

”
@

14.
¢

15.

Sri is a farmer.

He

L il w L} @ v v

4BUTEN MUTIIANILUA INDUAIDNLED

has a buffalo.

His buffalo is fate.

It is standing near Sri.

Who has a buffalo %

Ae
be
Ce

d.

Is

e

be

Ce

d.

Sri has a hat.
Sri has a buffalo.
Sri has a farmer.

Sri has not a farmer.

a buffalo thin ?
Yesy it is thin.
Yes, it is standing.
Noy it is not thin.

Noy it is not black.

14 - 15
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16.

17.

] F w ' b

WOWIDANMUTNANUUAMOUAIDNYE 16 — 17

o

125

e

L1

Ladda is standing.

She is drinking milke.

Pratoom is walking to her.

They are not in the kitchen.

They are in the room.

What is Ladda doing ?

as Ladda is drinking water.

b. Ladda is drinking milk.

ce Ladda is in the room.

de Ladda is walking.

Who is in the room %

a. Pratoom is in the room.

b. Ladda is in the room.

cs They are standing in

the kitchen.

de Pratoom and Ladda are in the room.
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?qaﬁumﬂﬁqquﬁwqaﬁqﬁuﬁqmﬂuﬁhnﬁum@ 18 - 19

This boy hag a hat, Hig hat is on his head.

He is wearing a hat, Two girls arec not wearing hats,

18, Wherc is the hat ?
a, It is in the boy's hand,
be It is in the boy's head.
ce It is under the boy's head.

de. It is on the boy's head.

19, How many girls are not wearing hats ?
ae One girl is not wearing a hat.,
b, Two girls are not wearing hats,
ce Three girls are not wearing hats,

de A boy is wearing a hat.
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L] e o 1 o U i.’

WUTOANMUTIRNULAWRLRINLTE 20 = 22

Malee is in beds Boon is in bed, They are sleeping. The cat is
in beds It is in Malee's beds The monkey is in bed too, Tt is in Boon's

bed.

20, ﬁhere are Boon and Malee ?
ae They are in the room,
bs They are in bed,
c¢e They are at home,

de They are at school.



21, TWhere is the monkey % 128
a. It is under lialee's bed.
be It is in lMalee's bed.
¢« It is in Boon's bed.

de It is staending near Boon.

224 Vhere is the cat 7
as It is in Boon's bed.
be It is under Boon's bed. ;

c. It is under lalee's bed.

de It is in ialee's bed.

) 2 Fo ] L 24

AIBUTDANUTARLUA IDUNDNLTE 25 - 25
Jock is on the deske Puff is a white cate It is on the floor.
The bottle of ink is not on the desks The ink is on Puff., Puff is a white

and black cat now.



23,

24.

25

Where is the monkey %

e

be

Ce

d.

It is on the floor.
It is on the table.
It is not on the desk.

It is on the deske

¥here is the bottle of ink %

B

be

Ce

d.

It is on the desk.
It is on Puff,
It is on Jock,

It is under the desk.

What colour is the cat now %

e

b.

Cs

de

It is black now.
It is white now.
It is black and white now,

It is not black and white now.
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IDUTOA NUTIANLLAWDUAIDNYe 26 = 28

This is a basket of fruits.
There are two apples, one orange, three
bananas and three mongoess They are good
to eaty We eat fruits and drink milk in

the morning,

26, What is in the basket ?

a. Bananas are in the basgket,

be Apples are in the basket,
¢e An orange is in the basket,

de PFruits are in the basket.

27, What is good to eat ?
ae Fruits are good to eat.
be Bggs are good to eat.
ce Milk is good to ?rink.
d. Tea is good to drink,

28, Who drinks milk ?
ae You drink milk,
be They drink milk,
¢e I drink milk,
de We drink milk,
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MM MUTNAWUUL IOUAIDUTD 29 - 32

w ] & o

This is Puff. It is a cat. Puff is Malee's cate

cate It is not a tiger,a fish or an elephant.

29« Is Puff a tiger %

ae Noy Puff is
be NO’ Puff is
c. Noy, Puff is

de No, Puff is

30« What is Puff ?
2. Puff is not
be Puff is not
c. Puff is not

de Puff is not

not a fishe.
not an elephant,
not a cat.

not a tiger.

a cat or an elephants
a cat or a tiger.
an elephant or a tiger.

a cat or a girl.
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31. Where is a bowl of rice ?
ac It's on the floor.
b. It's near Puff,
c. It's on the floor and near Puff.

d. It's not on the floor.

32. What is Puff doing %
a. Puff is eating rice.
be Puff is standing.
¢, Puff is sitting.

de Puff is sleeping.

] » v ] L v

= L)
FIDMNUTBA MUY WAUU MNMDUAINILLD 33 - 36
Tom is a boy. Mary is a girl.s They are pupils. They go to school

in the morning. Tom goes to school in a bus. Mary goes to school in her car.

33« What is the boy's name ?
a« His name is Tim,
be His name is Toms
c. His name is Tone.

de His name is Mary.



133
34y Who is the pupil ?
a. Tom is the pupil.
b. lMary is the pupil.
ce Tom and Mary are the pupils.

de Tom and Mary are not the pupils.

35« Who goes o school in a bus ?
a. Tom goes to school in a bus.
be The pupils go to school in a buse
ce lMary goes to school in a bus.

de Tom and Mary go to school in a bus.

36e Who goes to school in a car ?
a. Tom goes to school in a car.
b Mary goes to school in a car.
¢, Tom and Mary go to school in a car.

de The pupils go to school in a car.
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OWIDANMUTIA UL MU DIE 37 = 41

This is Malee. She is a girl, Boon is a boy. He is her brother,

Boon and Malee have a black monkey and a white cat, Jock is not a cow, It
is a monkey. Jock is sitting near Malee and Boon., It is reading a book,

A small rat is on the tree.

37, What is the girl's name ?
as« She is a girl,
b. Her name is Boon,
ce Her name ia Maloe,

de Her name ig Joeck,
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38 What is the monkey's name % 35

as Boon
b. Jock
ce Malee
de Book

39« Who has a white cat ?
as Jock has a white cat.
be Malee has a white cat.
c. Boon has white cat.

de Boon and Malee have a white cate

40 Is the rat small ?
a. Noy it is not small.
be Yes, it is big.
ce Moy it is not big.

de HNoy, it is not tall.

4ls What is Jock doing ?
as Jock is running.
b. Jock is sleeping.
c. Jock is standing.

de Jock is reading.
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U BAMUTINAIIULA N DUAIDNUDD 42 - 51

Two boys and one girl are at the table., They are having bfeakfast
at a quarter past seven, They are cating rice and ducks Rice and duck are
in the platess Three cups are on the table. Bananas and oranges are on the
table too, Chab has a fork in his hand. Pratoom has a spoon in her hand.

Tim has two black chopsticks in his hand.

42, Who is at the table ?
as Chab and Pratoom are at the table,
bs Pratoom and Tim are at the table,
ce Tim and Chab are at the table.

de Chab, Tim and Pratoom are at the table,

43« VWhen do they eat breakfast ?
ae They eat breskfast at night,

be They eat breakfast in the evening,



45.

46.

47

8+ 'They eat breakfast in the afternoon.

de They eat breakfast in the morning.

Where is the duck ?
as It is in a pPlate.
be It is in a bowl.
c. It is in a cup.

de It is in a glass.

How many cups are there on the table %
as There are two cups on the table.
be There are three cups on the table.
ce There is one cup on the table.

ée There are no cups on the table.

Where are bananas ?

a« They are in the plate.
b They are in the cup.
c. They are in the bowl.

de They are on the table.

Where is a fork ? )
ae It is in Pratoom's hand.

be It is in Tim's hand.

¢. It is in Chab's hand.

de It is on the teble.
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48y Where is = spoon 7
ae It is in Pratoom's hands
bse It is in Pratoom's platei
¢. It is in Chab's hand.

de It is in Tim's plate.

49. TVWhere are two chopsticks ?
a. They are in Chab's hand.
b. They are in Pratoom's hand,
c. They are in Tim's hand.

de They are in Tim's plates

50« What colour are the chopsticks ?
a. They are black.
b They are blue.
ce They are white.

d. They are black and white.

51l What are oranges and bananas ?
a. They are eggs.
be They are fruits.
ce They are food.

d. 'Hley are fish.
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' wan'aﬂ'nmwmqﬁummﬂm‘qmmﬂ 52 - 60

This is a house. There are two treess A bird is sitting in a tree.
It is singing. Tom and Tim are throwing a ball under the trees. They are
ruming. Their mother is in the house. She is washing her white blouse »

The dog is sleeping on a box. It is not under the trees.

52. TWhere are the boys %
a. They are running.
b. They are playing.
ce They are under the trees.

de They are in the house.

53. Who is in the house ?
a. The mother is in the house.
b. The dog is in the house.
cs Two boys are in the house.

d. Two boys and their mother are in the house.
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54, What are the boys throwing ?
a. They are touching a ball.
be They are throwing a ball.
c. They are playing a ball.

d. Tim is giving Tom a ball.

55. Where ig the bird ?
as It is in the nest.
be It is in the cage.

ce It is in the tree.

de It is in the tea.

56. What is the bird doing ?
a. It is eating.
b It is singing.
ce It is standing.

d. It is Walklng-

5T Is she washing a shirt %
a. Yesy she is washing a shirt.
b. Yes, she is washing a skirt.
c. Noy she is not washing a shirt.

d. No, she is not making a shirt.
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58, Is the dog eating ?
a. Yes, it is eating,

b, Yes, it is sleeping.
¢, No, it is not eating,

de Yes, it is on the box,

59. Who has the ball ?
g8 Tim has the ball,
be Tom has the ball.
¢e Tim and Tom have the ball,

de Their mother has the ball.

60, How many dogs are there in this house ?
ae There are two dogs in this house.
b. There is one dog in this house.
c¢. There is one box in this house.

de There are no dogs in this house.
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